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However were it not so we would utilize the 1"'? even though
7P is written there

OVERVIEW

The X713 initially assumed that a 1" cannot override a P10 which is written
X212°¥% (such as 1132). The JWwpn challenges this that we find that a V"'p can
override a X212°¥" (as in the case of P11 concerning 5"7191° NT12Y). NMOOIN will
explain how it is derived from this Xn>>2 that a 1"p can override a 8215°V5.

nooIn asks:
— Y77 5295 RN RN 2PN (x,x0 97 x01) 29IPA 990 P92 NN NN

It is astounding! For in "5%p2 nau pas, the X3 establishes this xnvma

according to >''9. The reason it is established according to >"7 is -
— 71995 %24 'x990 DNOT DIUN

Since the rule is that any anonymous Xn>°72 in 899%0 is attributed to "' -
— (3,0 970w I INORIN 7992 NNHN 5299 1Y 199V

And we heard the view of 3" in ¥ 1R27 P7D -
— >392 *jab »1)33 DIWYIN ©9272 RIX NPIN 29N Y ININT

Where he maintains that the term 7P (indicating X215°V) was only
written concerning those services which were preformed with the white

(linen) garments inside the o°wpn wnp -
—NINA 137 »1H22 DIVYIN D9272 NN NYNM

However, casting of the lots is from the things that were done with white

garments outside the p"7p; in (the 93°77 or) the 77V -
— PN 5 13 N7 BINDN B 29N DIYY 7599 INM 19 ON

Since this is indeed so, why does the X7 ask previously, ‘but 2''27

where it is written 213 and 5727, and nevertheless a 1"p overrides i, etc. -
— DPY9T NY9NA NPIN 3°N0 NY N

But 77 was not written concerning 79737, as I explained?! Therefore it is
understood why the 1" would be effective since it is not overriding a 8212°%!

! X79°0 is a compilation of NIN™12 on XM WM. Any X012 ONO in X19°0 is attributed to 77 .

2 On 2" the 3"715 did all the may; including both ‘regular’ mmay such as the 1901 170 and the special
mTay of 5"v; the o 1ywii '21 79 and the NP in the p"np, etc. When he did the regular m1712y he wore the
usual eight garments of the 3"n13 (which were made mainly from dyed wool 121 123781 n93n), however when
he did the 172y of 2"y he wore the white linen garments (similar to that of a v1>777 172).

? The 109 in 79,70 (*IMX) X" states: "3 22w npr> 2% nXi nvm. The word n&t according to "1 qualifies the
word 7P, that 7pn (which implies ¥212°9%) applies only to 0°192 327 732
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Mo0IN answers:
— %5391 591 NYY YUK N7 DIVYN KON 19997 919 v”

And one can say; that the question here is (not from the word 71, but

rather) because the words 177¥ 2WR concerning the 971 is written twice and
nevertheless we would have derived from a 1"p that nXvi nww awn (if not for the v »n of
NRVI W) -

— *N2)9%9 251197 23 Y¥ N 1IN 9P YWIIT N1YN

It is therefore evident that we may employ an overriding Y"'p, even
though a constraining term is written.

mooIn offers an additional resolution to the question:
- SN NN 9349 1YY TPA0NINTN NN XNIPN PYNY 1329 29

And sxp» w'"977 answered that since >''1 requires the word NNy -
— 7293 125 71323 DIUMIN DII2TIR KIN NPIN NI NYT MY

To reveal to us that 7P applies only to the m72y that were done >7322

2%1D3 3aY, it is therefore -
— APIN 2957 (XIN) 2) DY 4N 99N HP 122VUITT NN YNIY

evident from this, that we utilize an overriding Y''? even where 7?7 is
written —

mooIn explains how this is evident:®
— DN PINYSY 911‘,711'\ 25N57 NN MINY U 1PVWIHT RY INY

For if we do not 3297 an overriding Y''p whenever it say 1?1, then the

7100 should have refrained from writing NR? to teach us that 71 does not apply
to P -
— 19951 99977 YINA DIVYYIN D93IN 29N KD NPINT NIYT> NIN)

And I would still know that 727 is not written concerning the n7ay

that were performed outside; namely 797377, We would know this -
— NINLN HINYIY BYN PPN HRVN ITVIY DN YW TINIY anon 1w TPIONNT

Since the P05 of nXwA WY is necessary to expound that the 713 makes

*In >0 10 ("IAX) XIPM the D°P10D read: HIRTYY Y37 POV 79Y WK N3 T2 YN 19y 799 wR. When something
is repeated (twice) by D°w7p it is R212°¥7; indicating that only a 73 makes the 2> vw eligible 21R1Y91 175,

3 According to this answer, the X3 does not mean the literal 7 (for the question is from 7%Y qWwK), but
rather the idea of npw1 that the specific laws are ®212°v%. It is therefore self understood why >xypn w"97
offered an alternate solution for the X113 does say 1111 (and not 72y WK).

® This is amended to read nxr.

7 See footnote # 2.

¥ See ‘Appendix’ for a summation of this explanation.

? That is if we assume that a 1"p cannot override a X125,

190,10 (I0R) Xp7 reads: DROM WYY T2 NI VRV 70V WK PYWA DX TIAR 2.
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the goat into a nRwvn, but calling it with the name nXvr does not make it

into a nRYT -
— 11990 939107 YIN2 DIVYIN DM92TIN NPIN K1IMP KYT Y991

It may be inferred from this that 71?17 does not pertain to the mm2y which

are performed y72; namely 7759557 -
— YIN3 )2Y Y7322 DIVYIN BT Y NPIN INP INT

For if 7171 refers to the m72y which are performed 772 32% 97323, then -
— OV NNYIP MOIYNY NNVN INYM TIIONIN ININ

Why is the 7109 of nRwun 7wy necessary to exclude ‘calling of the name’ -
— N21DPY 29097 NN 92N IP )9WHT NI XD

Since we do not utilize a 1"'? where there is an X212 (like npn) -
— 91N Y1 Y NNGIP ;A9 PRYIN POIN 3350

So how could it have entered your mind to include 2w nX>9p from a "'
that you require nXur 1w to refute the 1"p!
— PN XNT NN IPAN 1IN Y7 1PUATT NI ¥V NN

But rather it is understood from this that we do utilize an overriding Y''p

even when 7177 is written -
— 1Y THON Y915

And therefore the P05 of YW is necessary to exclude owi nR™Mp -
—\IN2 APIN NN N II2AN)
for even if 1?7 would have been written for Y7 I also would have utilized the

1"P to include own PR were it not for NRVM WY (since we are assuming that an 1"'p can
override a X212°95.

n1doIN concludes:
— §IN3 1aY %7H33 DIYWYIN D9372 NPIN NN RYT 399925 AND 923 TPIVYIN)

And the word nXt is also necessary to teach us that 7?17 was not written
concerning the n72y which were performed 72 32% 7322 -
— YNV WY TIVDNTN 1195 XYY
For we cannot assume that we know it since 12y is necessary -
1PN N7 NN 1IN 1IN 9P 1PVUATT 113
since we utilize an overriding Y''? even when it says .

SUMMARY

We derive from the Xn»9a that a "7 can override the X122°% of 7%V WX
(which is stated twice [X212°¥7]). Alternately we derive it from the fact there
1s a necessity for the 21w 1 of NXT and NXLA W,

" This (too) is amended to read nXy.
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THINKING IT OVER

How can n1voIn answer that the X212°v is from 7%y WX written twice; if that
is the X212’y then certainly the ' cannot override it, just as it cannot
override the nxvr 1wy It can only override a general v » such as 7P but
not a specific vV1¥°» (such as twice 779 WK or NXV Ty

APPENDIX

The 770 writes 771 to teach us that the M7y of "7 are X212°v5. In
addition we find that 7773 ' has two additional nMwa7; one from NXT which
teaches that 7P pertains only to 2°192 32% *732 and not to Y172 12% °723, and
the second nw17 of nXvn WY that only the 771 makes the 2°Yw into nXvn
but oW NR*MP cannot make the NXLA YW,

If we would assume that a 1"'p cannot override an 212°V (such as 7p) there
will be the following difficulty."

Let us assume that the 770 did not write NX7 (whereby seemingly the
restraint of 7?17 applies to v as well).

We will derive from nXvn \wy that own DX"MP cannot make a NXYIT in spite
of the 1"p.

However why is nXuri 17wy necessary — if we assume there is no nNX7, and
71 applies to yI1- if a1"? cannot override an X213°Y!

Therefore we must conclude — since the 770 did write RV WY to exclude
awn nXIp — that 7P applies only to 215 and not to 1117 and therefore if not
for nXun MWy there would be a ' for awn DRAP.

It is therefore evident — if we maintain that a "' cannot override a X212°V9 —
that NXT is unnecessary to limit 7P to 0192, because we realize that (without
nxr), from the 7% of nROA V.

However "1 does utilize the 01y n of NXT -

Therefore we cannot maintain that a 1"p cannot override a X212°¥7; but rather-
A 1"p can override a X212°VY, therefore —

If the 770 would not have written nX7, we would need the 105 of nRuA MIWN
to teach that awn nNX*MpP cannot make a nXvr. The 7WA7 from NRVA WYY 1S
necessary for otherwise the 1"? would override the X212°v of 7P —

' See 0" and w"wA.
" The difficulty will be that once we have the v1*» of NXor 3wy, then the LY of NXT is superfluous.
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Therefore NXT is necessary to teach us that 71 applies only to 2°192 127 732
for we have no other way to derive it if we maintain that a 1"p can override
7. This proves that a 1" can override a X212°95.
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